
*Note: These questions are only indicative to demonstrate the test 

pattern.   

 

Sample Questions for Class 11th  

Accountancy 
 

1. Accounting does not show the realizable value of business. It is a /an 

(A) Limitation of accounting 

(B) Advantage of accounting 

(C) Both (A) and (B) 

(D) None of these 

 

2. Capital is 

(A) Internal liability 

(B) External liability 

(C) Internal as well as external liability 

(D) None of these 

 

3. According to which of the following accounting concepts, even the proprietor of a business 

is treated ascreditor to the extent of his capital? 

(A) Money Measurement Concept 

(B) Dual aspect concept 

(C) Cost concept 

(D) Business entity concept 

 

4. Under the cash basis of accounting, expenses are recorded 

(A) On payment 

(B) On being incurred 

(C) Either A or B 

(D) None of these 

 

5. Bank account is a 

(A) Personal account 

(B) Real account 

(C) Nominal account 

(D) None of these 

 

6. Cash memo is prepared when goods are sold 

(A) On credit 

(B) On cash 

(C) Both (A) and (B) 

(D) None of these 

 

 

 

 



7. Journal is called 

(A) A book of primary entry 

(B) A book of secondary entry 

(C) A book of final entry 

(D) Both secondary entry and final entry 

 

8. Errors of omission permit 

(A) Correct totalling of the balance sheet 

(B) Correct totalling of the trial balance 

(C) The trial balance to match 

(D) None of these 

 

 

9. Invoice is a source voucher for seller of goods 

(A) For cash sale 

(B) For credit purchase 

(C) For credit sale 

(D) For cash purchase 

 

10. The Bills receivable book is a part of 

(A) The journal 

(B) The ledger 

(C) The profit 

(D) Balance sheet 

 

 

Aptitude 
 
1. A 180 m long train crosses a pole on 20 sec. what is the speed of the train? 
 (A) 15 m/s (B) 9 m/s 

 (C) 18 m/s (D) 12 m/s 
 
 

Directions (Q. 2 to 3): study the following information and answer the given questions. 
P is the brother of G, G is the mother of T. 
T is married to K. D is the son of K. 

B is the wife of D. 
 
2. If V is the sister of D, then how is B related to V? 

 (A) Sister-in-law (B) Daughter 
 (C) Sister (D) Cannot be determined 
 

3. In a certain code language, ‘WORLD’ is coded as ‘XNQKE’, similarly ‘TERMS’ is coded as 
‘UDQLT’. How will ‘GIVEN’ be coded in the same code? 

 (A) HHUDO (B) ODUHH 

 (C) ABCDE (D) None of these 
 
4. If ‘÷’ means ‘×’, ‘+’ means ‘÷’, ‘–’ means ‘+’ and ‘×’ means ‘–’, then 30 – 15 + 5 × 3 ÷ 2 

= ? 
 (A) 26 (B) 24 
 (C) 25 (D) 27 



 

5. Radha’s present age is the three years less than twice her age 12 years ago. Also the 
espective ratio between Raj’s present age and Radha’s present age is 4 : 9. What will be 
Raj’s age after 5 years? 

 (A) 12 yrs (B) 7 yrs 
 (C) 21 yrs (D) None of these 
 

Directions (Q. 6 to 7): Inserting the missing character 
 
6.  

 

 

1 5 2 

11 

2 6 3 

20 

? 4 3 

16   
 

 (A) 4 (B) 3 
 (C) 7 (D) 9 
 

 
7. How many numbers of squares are there? 
  

    

    

    

 
 (A) 20 (B) 22 
 (C) 24 (D) 26 

 
8. Find the mirror image of the following figure X where (M1 M2) represents the position of 

mirror. 

 

 

 Main Figure Answer Figure 

(X)  (A)              (B)               (C)              (D) 

M1  
 
 
 
 

M2  
 
Directions (Q. 9 to 10): What will come in place of question mark (?) in the given number 

series? 
 
9. 1338, 447, 150, 51, 18, ? 

 (A) 7 (B) 6 
 (C) 9 (D) 10 
 

10. In a certain code language ‘they have come back’ is written as ‘najasa da’ and ‘they 
have gone there’ is written as ‘da ka pa na’. How is ‘come’ written in that code 
language?  

 (A) sa (B) na 
 (C) ja (D) sa or ja 
 

 

 

 

 



BUSINESS STUDIES 

1. Which of the following is not applicable in life insurance contract? 

a. Conditional contract 

b. Unilateral contract 

c. Indemnity contract 

d. None of the above 

2. Which of the following can ensure effective ethic programme in a business enterprise? 

a. Publication of code 

b. Involvement of employees 

c. Establishment of compliance mechanisms 

d. All of them 

3. Equity shareholders are called 

a. Owners of the company 

b. Partners of the company 

c. Executives of the company 

d. Guardian of the company 

4. Star Ltd opened a new branch in Kochi. Which of the following organisation objective is 

being fulfilled? 

a. Profit 

b. Growth 

c. Survival 

d. None of these 

5. Who issues the Certificate of Registration to a partnership firm? 

a. State Government 

b. Central Government 

c. Registrar of Firms 

d. None of these 

6. Qualification share are subscribed by _____ of the company 

a. Auditors 

b. Directors 

c. Bankers 

d. Employees 

7. In the case of life insurance, insurable interest must exist at the time of 

a. Taking the policy 

b. Maturity 

c. Both (a) and (b) 

d. None of these 

8. ATM facility to withdraw money is an example of 

a. C2C Commerce 

b. B2B Commerce 

c. Intra B Commerce 

d. B2C Commerce 

9. Which of the following is limitation of equity shares? 

a. Permanent burden of interest 

b. Charge on assets 

c. Danger of over capitalisation 

d. Repayment obligation 

 

 



10. Which instrument saves tax? 

a. Equity shares  

b. Debentures 

c. Retailed earning 

d. Preference shares 

 

 

Economics 

1. Marginal cost is closely related to which of the followings: 

(a). Fixed cost   (b). Money cost 

(c). Variable cost  (d). Opportunity cost 

 

2. The most efficient form of market is: 

(a).  Perfect competition (b). Monopoly   (c). Oligopoly  (d). Monopolistic competition 

 

3. Price discrimination will always lead to: 

(a). Increase in output(b). Decrease in output 

(c).  No change in output (d). None of the above 

 

4. what is meant by word ‘Demand’ in economics? 

(a). Quantity demanded of a good. 

(b). Quantity demanded of a good at a given price. 

(c).  Certain quantity in the market. 

(d). Quantity produced by the producer. 

 

5. Opportunity cost is also called as: 

(a).  Implicit cost (b).   explicit cost (c). Economic cost (d). None of the above 

 

6.When the prevailing Market price is different from the equilibrium price, it immediately results 

in in: 

(a). Excess demand  (b).   Excess supply 

(c). Either (a) or (b).   (d). Neither (a) or (b) 



 

7.The profit of a firm diminishes when…………exceeds…….. 

(a). Marginal revenue. Marginal cost  (b). Marginal cost, Marginal revenue. 

(c). Marginal revenue,  Average cost   (d). Average revenue, Average cost 

 

8. Which of the following is the correct statement? 

(a). If r =0 there is no linear relation between the two variables 

(b).if r=1 ,there is no linear relation between the two variables   

(c). A low value of r indicates absence of linear relation  

(d).The value of r affected by the change of origin and change of scale. 

 

 9. _______ correlation relates to the direction of change. 

(a). Linear    

(b). Positive   

(c). scatter  

(d). Limited  

 

  10.The most common value in a series is 

(a).  Median  

(b). Arithmetic mean 

(c). Mode 

(d). all of these 


